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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4500

4000

3500 -

3000 -

2500 -

2000

ning: col |['FVOEC’] is missing

‘—.— ECO

10

20

30

40

50

60

70




Plot [['PHC:b—0’,

"FVIPH:r—o’, 'PHIl:g-0o' 1]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3 0
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ET (ml/hr/plant)

P3_0, Day=71 (2025-06-15)
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BYiE) | GEBRAK ) | ERE(EA/K | EREE B/ R [ XS R

05:40 366 150.0 0.593 BA| {Ri%@05:40 Bz (RAEEE)
06:40 366 150.0 0.593 [Z=| 1BRiBe06:40 Bzh (KREEREE)
07:40 366 150.0 0.593 |&Z=| 1Ri%e07:40 B3 (GGREEZERE)
08:40 366 150.0 0.593 |Z=| 1Ri%e08:40 Bzl (KREEZERSE)
10:00 366 150.0 0.593 FE| {Ri%@10:00 Bz (GRAEEE)
11:20 366 150.0 0.593 FA| 1BRi%@11:20 B3h (RAEREEE)
13:05 366 150.0 0.593 BH| 1BRi&e13:05 Bzl (RAEREE)
13:55 366 150.0 0.593 FA| 1BRi%@13:55 B3h (KRAERSE)
14:35 366 150.0 0.593 FA| 1ERi%@14:35 B3h (RAEREE)
15:35 366 150.0 0.593 FA| 1BRi%@15:35 B3h (RAIEREE)
21t] 3660.0 (10)%) 1500. 0 EIUHKEC: 2290, PH: 6.5

FREVRINS KitKPH 6.5

P EIRECE (2148. 0 vs 4500.0) T3
HEBIR IS RFHREC 2288.0
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BTiE) | GEBIATK (F) | EME (EHA/&) | EBRERE (/X)) | XK SRR

06:05 390 150.0 0.593 FA| 1E2i%@06:05 B3h (kA{EREE)
07:05 390 150.0 0.593 FA| 1B2i%@07:05 B3zh (KRABIEREEE)
08:35 390 150.0 0.593 FA| {Ri%@08:35 Bz (kAEE:E)
13:10 390 150.0 0.593 FE| {Ri%@13:10 Bz CGRAEEE)
14:00 390 150.0 0.593 FA| 1E2i%@14:00 B3h (RAEREE)
14:40 390 150.0 0.593 FE| 1BRi&e14:40 Bzh (GGRAEREEE)
15:40 390 150.0 0.593 [Z=| 1Bige15:40 Bzh (REERESE)
17:30 390 150.0 0.593 |Z=| 1Ri%e17:30 B3 (REZERE)
23t]3120.0 (8%) 1200. 0 IHKEC: 2290, PH: 6.5

TEREHERE STEIEART (202.0 :

ERINSLPRIERE148.0 ml.

HREUR Y S RAEHRPH 6.5

FEERECE (2146.0 vs 4625.0) 45
REVEIWN S Kt iKEC 2288. 0

148.0), FIREIKERFBERE




P3_0, Day=68 (2025-06-12)
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P3

BfiE) | GEBATK (R)) | EBE (EH/f) | ERERE (B/R) | XS R

08:35 390 150.0 0.593 F  1BRi&e08:35 Bal (RAEREE)
09:15 390 150.0 0.593 El 1BRi&@09:15 Bz (GRFEREE)
10:05 390 150.0 0.593 =l 1Ri%e10:05 B3 (RAERSE)
10:50 390 150.0 0.593 E {Ri%e10:50 B3 (RAERSE)
11:30 390 150.0 0.593 El BRi&e11:30 Bz GRAEREE)
12:10 390 150.0 0.593 S {Rige12:10 Bzh (GRAERSE)
12:55 390 150.0 0.593 El {Rige12:55 B (RAERSE)
13:40 390 150.0 0.593 El BRi&e13:40 Bz CGRAEREEE)
14:25 390 150.0 0.593 F BRige14:25 Bz CGRAERESE)
15:10 390 150.0 0.593 Sl 1Rige15:10 B3 (RAERSE)
16:00 390 150.0 0.593 F BRi%e16:00 Bzl (RAERESE)
17:05 390 150.0 0.593 =l {Rige17:05 B3 (RAERSE)
=it 4680.0 (12:%) 1800. 0 ZHKEC: 2290, PH: 6.5

FEREHLERM 8 STHEAEARST (190.0 : 133.0), AIEEKREERE

FORGEBR R R IRIE B Z Y (390 vs 441.0))

ZRIALBREBRE133. 0 ml.

large discrepency for begining water status (56:263.0), set to 56 ml.
IEENZ WS RHIGPH 6.5

#[EKECE (2178.0 vs 4755.0) i35

IREVFZ W S RIHEIREC 2288.0

EORGEBREC (1955.0) SiREIEN (2290) REKRK, BEHRE.



P30, Day=67 (2025-06-11)

BfF———————_——— Y
VI, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 80141 000
2614 _
2238 -
100 128 !
1905 L 2000
343 454 E
a >
50 N L 1000 &
114 Warning: [col ['FVI',| "FVO’'] missing
-0
4
—_ L 200 =
L
= f 150
o
iy - 100 E
=
o L 50 &
4

0.8

0.6

0.4

0.2

Warning: [col ['WC1’, "WC2'] missing
oo+r--—---
2200 | OPtEC0=3000. 0, setECB=2290 —¢—  ECB¥10%
® ECC
ce °¢ N el EEAE A N BEaEam ond
2000 - L
°
°
1800 - L
°
e o0 —>—  PHB*10% [
7 04 optPHO=6.5, setPHB=6.5 PS d
' ® PHC
°
T T N A - iaiiiisii)io
o0

6.0

300 m— - - - 2 4000
= Bylnit @iDH 02:09: ET=2048 Fg=2850.0 Ro=876.0 =
c 1 c
= I - 3000 ©
g 200 : q/\\//\ 4 o © §
: ' il R
- 1
£ 100 - I - b,
— I I I I “ I I \ L 1000 E
[in] 1 o

1 —

3084 0 1 2 3 4 | 5 6 7 ) 9 [ 10 11 1213 14 15 1617181972 [ 21122723 F %000
A A AL A A A A A A A A A AR A A A AN A A A N A R A EF 5=
C l C
S caa- | ET= _ _ " L 3000 ©
3 200 ByEt @D67 19:34:|ET=2238 Fg=2560.0 Ro=nan ® ° I o ° ® ° =
£ L 2000 E
£ 100 - A b,
_ : L 1000 E
Ll [&]

\_}_\

3084 0 1 2 3 4 | 5 6 7 ) 9 1011 1213 14 ] 51617181972 [ 211221235 F %000
= BB ||| B | B ||| B |8 5 5 5 5 5 5 5 5 REERE AR ERREEREES o~
= 1 i c
= 500 1 ByWoFv @D71 02:09: ET=1454 Fg=1800.0 Ro=519.0 3000 5
~N : ~N
. i =enl T2 [,
£ 100 - I b,
— I L 1000 E
w : S S 3

1055 1 2 3 4 | 5 6 7 ) 9 |10 11 [12] 13 ] 14 ] 15 ] 16 | 17 [ 18 [ 19 ] 20 [ 21 [ 22 | 23

0ol B | P& | W | # | M | W& | & | M | RE | | M | R | W | M | R | B | R | B | M | B %7 |85 BnlB

0.6

0.4

0.2

0.0

1500 4 — 4

® | _obs
—@— PPFD_obs

80 @

60 -

40 - RH

o RH_obs

20 - [ } RHo_obs




23.

22.

22.

22.

21.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

m=575,m FV0=0

™\

m=715,m FV0=0

m=860,m FV0=0

21.

21.

21.

21.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

m=430, FV0=0

430 455 4&0
m=605,n FV0=0

—o— ME

<
i
™

605 6%0 6i5
m=750,n FV0=0

—o— ME

750 765 760
m=900,n FV0=0

1T —e— ME

i
§
s

900 905 910

22.

22.

21.

21.

22.

22.

22.

22,

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

m=460, FV0=0
—e— ME
460 465 470
m=640,m FV0=0

1T —e— MmE

640 6&5 660
m=780,n FV0=0

—o— M_E

-

780 7é5 750
m=935,n FV0=0

-o— M_E

935 940 945

22.

22.

21.

21.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

22.

21.

22.

22.

22.

22.

m=520, FV0=0
—e— ME
520 525 530
m=675,m FV0=0

1T —e— MmE

T T
675 680 685

m=825,n FV0=0
—o— ME
8&5 8é0 8é5
m=965,n FV0=0

-o— ME

965 970 975




23.

23.

22.

22.

24.

24.

24,

24.

25.

25.

24.

24,

24.

24,

24.

25.

24.

24.

24.

24.

m=990, FV0=0

27 —o— M_E
0 -
8 -
6 -
géo 9é5 1obo
m=520,m FV0=0
—— MW
6 -
4 .
2 -
0 -
520 525 530
m=675,m FV0=0
17 —e— MW
0 -
9 .
8 -
7 -
6 -
5 -
675 680 685
m=825,m FV0=0
07 —o— MW
8 .
6 -
4 -
2 -

825 830 835

23.

24.

24

24.

24.

25.

24.

24

24.

25.

25.

24.

24.

24.

0 ™ T T T
400 600 800 1000
m=575,m FV0=0
81 —o— MW }\
6 .
4 .
2 .
oo
575 580 585
m=715,m FV0=0
—— MW
0 .
8 .
6 .
4 .
715 720 725
m=860,m FV0=0
27 —o— MW
0 .
8 .
6 .
4 .
860 865 870

23.

23.

23.

23.

25.

24.

24,

24.

25.

24.

24.

24.

25.

25.

24.

24.

24.

m=430, FV0=0
—— MW
8 -
6 -
4 -
2 -
450 455 4&0
m=605,n FV0=0

—— MW

\

4 .
605 610 615
m=750,m FV0=0
—o— MW
0 .
8 .
6 .
4 .
750 755 760
m=900,m FV0=0
2 .

-— MW

i

900 905 910

24.

24.

24.

24.

23.

25.

25.

24.

24,

24.

24.

24

25.

25.

24.

24.

25.

25.

24.

24

m=460, FV0=0
61 —e— MW
4 .
2 .
0 .
8 .
460 465 470
m=640,m FV0=0
1 - MW
0 .
9 .
8 .
7 .
6 .
5 .
640 645 650
m=780,m FV0=0
27 —o— MW
0 .
8 .
6 .
7éo 7é5 750
m=935,m FV0=0
—o— MW
2 .
0 .
8 .
6 .

935 940 945




m=965, FV0=0

25. 4

25.2 -

25.0

24.8 -

—o—

M_Ww

965

T
970

975

m=990, FV0=0
—— MW

25.6 -
25.4 -
25.2 A
25.0 A

T T T

990 995 1000




